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The number of pitches is obtained by omitting
fractions. When L is an odd number, an offset link is
required. We recommend that you avoid using an
offset link. When possible, an even number of pitches
by changing the shaft center distance or number of
teeth on the sprocket is used.

Shaft Center Distance

If the length of chain and the number of teeth in
the sprockets have already been determined, the
shaft center distance is calculated using the
following formula:

o :%{2L-N-n+J( 2L-N-n)-0.811(N-n  }
C is Number of pitches

Chain Speed and Load on Chain

1. Chain speed is easily obtained from Table 2
chain speed per one rpm of sprocket.
The number of teeth on sprockets other than
those on the Table 2 is obtained using the
following formula:
Vv =?—‘,§6—g(m/min.)
V = CHAIN SPEED (M/MIN)
P = CHAIN PITCH (MM)
N = NUMBER OF TEETH IN SPROCKET
n = RPM OF SPROCKET

2. Load on chain is found by the following formula:

4,567HP
F =Tt fig)
F = Load on chain (kg)
V = Chain speed (m/min.)

Note : In case of starts and braking of an electric
motor, inertia takes place, and a larger load
than the normal output horsepower of the
motor may impose on chain.





